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      GUESS PAPER-2012
                      CLASS-XII
                 ACCOUNTANCY

TIME ALLOWED: 3 HRS.







MAX. MARKS: 80

GENERAL INSTRUCTIONS:

1) This Question paper contains 2 parts A and B

2) All parts of the Questions should be attempted at one place

PART-A

                      (Accounting for not for profit organizations, Partnership firms and Companies)

1- How is ‘grant for some specific purpose’ is  treated in financial statement of not for profit organizations?

2- Mention any two items that may appear on the debit side of the partner’s capital accounts when capitals are fluctuating.

3- Where will you record “Increase in Machinery” in case of change in profit sharing ratio among the existing partners?

4- The goodwill of a partnership is valued at Rs 20,000. state the amount Required by new partners if he is coming for 1/5 share.

5- Give Journal entry of “debenture interest Due”.

6- Show the treatment of subscription in the books of non- profit organization, while preparing income and expenditure A/c for the Year 2003-04.

Receipt & Payment A/c

                        For the year ended 31-3-2004

	Receipt
	Rs.
	Payment
	Rs.

	To Subscription:

2002-03  10,000

2003-04   1,45,000

2004-05    20,000
	1,75,000
	
	


Add. Information:-

Subscription receivable as on 31-3-2003 was Rs 18,000 and as on 31-3-2004 was Rs 23,000

       7-ABC ltd. Took over the Assets of s 16,00,000and liabilities of Rs 1,40,000 of Vishwas Ltd. For the purchase consideration of Rs 15,40,000.The company paid the purchase consideration by issuing 8% debentures of R s 100 each at 10% premium. Draft the journal entries in the books of ABC LTD.

8-K ltd. Forfeited 3000 shares of Rs 10 each issued at a premium of Rs 2 each held by Aastha who had applied for 3750 shares but was allotted only 3000 shares for non payment of allotment money of Rs 2.50 (including premium)per share, first call money Rs 3 per share and Second & final call money Of Rs 2.50 per share. Journalise.

9- A,B,C were partners in a firm. On 1-1-2010 their capitals stood as Rs 50,000 ,Rs 25,000 and Rs 25000 Resp. As per the Provisions of the partnership deed 

(a) C was entitled for a salary of Rs 1500 pm.

(b) Partners were entitled to interest on capitals @ 6% pa.

(c) Profits were to be shared in the ratio of their capitals.

The net profit for the year 2010 of Rs 60,000 was divided in the ratio of 2:2:1 with out providing for the above terms .

Pass an adjustment entry to rectify the above error.

        10- A and B carried on business in partnership since 1990 sharing profits and losses in the ratio of 2:1  Resp. they admitted C for 2/7 share. The actual value of goodwill , however , on that date was Rs 21,000. C contributed the following assets towards payment of his capital and goodwill:-

Cash – 2000



Stock - 2000





Sundry debtors -3000


machinery – 4000

Pass necessary entries in the Journal to give effect to the above . Also calculate Sacrificing ratio.

      11-  Show by the means of journal entries the following cases;-

1) A ltd. Issued 10,000 12% debentures  of Rs 100 each at par Redeemable at par.

2) B ltd. Issued 20,000 12% debentures  of Rs 100 each at par Redeemable at premium of 5%.

12- From the following Receipt and payment A/c of ABC sports club and the additional information Prepare an income and expenditure A/c for the year ended 31-3-2006

Receipt & Payment A/c

                                                             For the year ended 31-3-2006

	RECEIPTS
	Rs
	Payments
	Rs

	To Balance

Cash                                    250

Bank                                    3890

Fixed deposit@9%         10000

To membership subscription

(including 1000 for 2004-05)

To entrance fees

To donations

To interest on Fixed deposit

To tournament fund

To Sale of old furniture
	14140

25000

8000

101

900

5000

510
	By sports material

By maintainance

By Match expenses

By salaries

By conveyance

By upkeep of lawn

By postage stamp

By honorarium

By sundry expenses

By Investments

By Tournament Expenses

By Balance

Cash                                7046

Bank                                1890

Fixed deposit                 10,000
	2890

620

810

22100

710

780

125

500

280

2000

3900

18936

	
	53651
	
	53651


Add information:-

(a) Monthly salaries is Rs 2000

(b) The value of unused postage stamps is Rs 95 and Rs 105 as on 31-3-05 and 31-3-06 Resp.

(c) Stock of sports material is as follows:

31-3-05---Rs 585     31-3-06 ----Rs 625

(d) Arrear of membership subscriptions: 31-3-05 Rs.1100 and 31-3-06 Rs 220

(e) Entrance fees is to be capitalized.

 13-  Following is the balance sheet of Teena and Meena as at 31-12-08

BALANCE SHEET 

As At 31-12-2008

	LIABILITIES 
	Rs 
	ASSETS
	Rs 

	Sundry creditors

X’s loan

General reserve

Provision for bad debts

Capital:

Teena                  10000

Meena                10000
	30000

5000

11000

2000

20000
	Cash

Stock

Debtors

Plant
	13000

5000

20000

30000

	
	68000
	
	68000


     On that date the firm was dissolved on the following terms:

(1) Teena promised to pay X’s loan and took over stock trade at Rs 4000

(2) Creditors payable after one month were paid immediately at @6% discount.

(3) Debtors realized Rs 19000 plant realized Rs 34500

(4) Meena took over an old fan completely written off from the books at Rs 300.

(5) Expenses on realization were Rs 1000

Prepare Realisation A/c   ,   Partner’s capital A/c and cash A/c. 

14-journalise the following:-

(a) A ltd. Redeemed Rs 90000, 10 % debentures of Rs 100 each , at 110 % by converting them into 15% debentures of Rs 10 each at a premium of Rs 10 per debenture.

(b) A ltd. Had Rs 20,00,000 8% debentures .The same were to be redeemed at 4% premium on

0 1-01-07, out of profits, also debentures redemption reserve has a balance of Rs 14,00,000.

15-   Ruchika and Ratika are partners in a firm sharing profit in the ratio of 5:4 . their balance sheet as on 31-3-2010 was as follows:-

 BALANCE SHEET 

As At 31-03-2010

	LIABILITIES
	Rs
	ASSETS
	Rs

	Creditors

B/P

Loan

Investment fluctuation Reserve

Capitals:

Ruchika                72000

Ratika                   54000
	36000

27000

20000

7000

126000
	Cash

Bank

Debtors

Stock

Furniture

Plant and Machinery

Investment

goodwill
	1800

40500

45000

43200

9000

31500

18000

27000



	
	216000
	
	216000


On that date ,Ritu admitted as a new partner for 1/5 share in the profits following adjustments were agreed upon:-

(1) Ritu will bring Rs 45000 as capital.

(2) Goodwill will be valued at Rs 10,800 and Ritu brings necessary amount for her share of goodwill in cash.

(3) The value of investment s is reduced to Rs 9020

(4) Create provisions for bad debts @ 5% on debtors

(5) Create a provision for 2 % for discount on debtors and 900 included in sundry creditors is not longer payable hence it should be written back.

(6) Old partner’s capital are to be adjusted in profit sharing ratio taking Ritu’s capital as base surplus to be paid off or deficiency to be brought in cash.

Pass the necessary Journal entries and the new balance sheet of the firm

OR

   A,B and C carried on a business in partnership and their Balance sheet on 31-12-10 stood as under:-

  BALANCE SHEET 

As At 31-12-2010

	LIABILITIES
	Rs
	ASSETS
	Rs

	B/P

Outstanding Expenses

Sundry Creditors

General Reserve

Capital:

A              35000

B              25000

C              15000
	6000

5000

5000

11000

8000

75000
	Cash

Deabtors

Debtors

Stock

Plant

Furniture

Patents

Goodwill
	4600

19400

13000

35000

10000

8000

15000

	
	105000
	
	105000


The Partners Share profits in the ratio of 5:3:2 A decides to retire on 31-12-10 and for this:

(1) Goodwill was valued at Rs 20000 and retiring Partners of the same shall be adjusted in to the account of continuing partners without opening goodwill a/c

(2) Plant was valued at Rs 30000 and Patents at Rs 10000

(3) The stock of the firm was worth Rs 10000. A was to be paid in cash brought in by B and C in such a manner so as to make their capital A/c’s in proportion to their new Profit sharing ratio which is to be equal. They also decided to maintain a cash balance  minimum Of Rs 600. Give  Revaluation a/c , partner’s capital a/c and Resultant balance sheet.

16- Luxmi Ltd. Issued 10000 shares of Rs 25 each for public subscription payable as follows :

Application Rs 5 , Allotment Rs 7 , First call Rs 8 and Rs 5 on second call .Following amounts were received in respect of their shares:-

On 9200 shares full amount

On 500 shares Rs 20 per share

On 200 shares Rs 12 per share

On 100 shares Rs 5 per share 

The company Forfeited all those shares on which less than Rs 20 was paid up and subsequently

Reissued them @ Rs22 per share. Journalise

OR

Vishwas Ltd. Invited applications for 125000 shares @ Rs 10 per Share . The amount was payable as follows:-

On application-Rs 3 per share

On allotment – Rs 4 per share

On I & Final call –Rs 3 per share .

Applications were received for 1,87,500 shares and Pro-rata allotment was made as follows:

Category-1 Applications for 100000 shares was allotted 75000 shares on pro-rata basis.

Category-2 Applications for 87500 shares was allotted 50000 shares on pro-rata basis.

A to Whom 3000 shares were allotted under Category-1 failed to pay the allotment money . Her shares were Forfeited immediately after allotment.

Shares who had applied for 1750 shares under category- 2 failed to pay the first call money. His shares were also forfeited. Pass the necessary Journal entries.

PART-B

(Analysis of financial statements)

 17-Give one limitations of Financial Statements.

18-State which of the following would result in inflow/outflow of cash and cash equivalent:

(a) Payment of dividend

(b) Sale of machine.

19- How will you treat “ Redemption of debentures” while preparing cash flow statement  as per As-3 (Revised).

20-The following figures were extracted from  the trial balance of Kajal ltd.

Share capital 10,000 shares  equity shares of Rs 10 each fully paid.

Securities Premium Rs 5000

8% debentures Rs 25000

Fixed deposit Rs 25000

Creditors Rs 5000

 Show the liabilities side of the balance sheet according to the requirements of the companies Act.

  21-Prepare a comparative Income Statements from the following information:-

	Particulars
	2009
	2010

	Sales

Cost of goods sold

Paid wages

Direct expenses

Operating expenses

Interest on Investment

Income tax
	30,00,000

60 % of sales

25000

15000

20 % of G.P

10 % of operating Profit 

40 %
	40,00,000

55 % of sales

30000

10000

25 % of G.P

10 % of operating Profit 

40 %


22- A company had a liquid Ratio of 1.5 and Current ratio of 2:1 and stock turnover ratio 6 times. It has total current assets of Rs 8,00,000 in the year 2003. Find out amount sales if goods are sold @25% profit on cost 

23- From the following BALANCE SHEET of saraswati Ltd. Prepare a cash flow statement as per AS-3 (Revised)

BALANCE SHEETS

	LIABILITIES
	31.03.09
	31.03.10
	Assets
	31.03.09
	31.03.10

	Share capital

Securities premium

General reserve

Profit and loss a/c

10 % debentures

Sundry creditors

Provision for tax.

Proposed dividend 
	135000

6750

10800

23625

8100

29025

9450

16200
	216000

13500

16200

27000

28350

27135

13770

21250
	Building 

Machinery

Furniture

Stock

S. debtors

Bank

Patents
	88020

33885

16740

42525

29700

21330

6750
	109620

68850

3375

56700

54000

69660

--------

	
	238950
	362205
	
	238950
	362205


Additional information:

(1) Interim dividend of Rs 13500 was paid during the year  2009-10

(2) Income tax provision  was made during the year 2009-10 Rs 12,150

(3) Provision for Depreciation on machinery on 31.03.2009 and 31.03.10 were Rs 6750 and Rs 13500 respectively.

(4) During the year 2009-10 part of the furniture sold at book value.
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